

## Lemont High School

800 Porter Street Lemont, IL 60439 Phone - (630) 257-5838 Fax - (630) 257-7603 Web - www.lhs210.net Dr. Mary Ticknor, Superintendent Eric Michaelsen, Principal



Exemplary High Performing School • 2017 National Blue Ribbon Schools Program

Lemont High School Students and Parents/Guardians,

Because of the sequential nature of mathematics, Lemont High School's Mathematics Department annually makes supplemental practice available to students in the summer. The concepts included are from prior years of school, and this resource is a tool for students to strengthen readiness for the next school year.

The completion of this packet is not required work for the upcoming school year. However, we believe it is important for students to maintain their skills over the summer. This never has been more important.

The packet includes a review of basic mathematics, mathematical concepts, and applications of these concepts. Students should use external resources if they are not familiar with some of the concepts included in this packet. Many of the answers for this packet will be available on the school's website by June.

Please contact me at bzettergren@lhs210.net with any questions. The Mathematics Department wants to continue to provide tools to practice and strengthen the mastery of mathematics.

Sincerely,

Brittany Zettergren Mathematics Department Chair

## Calculus - SUMMER PACKET

Summer + Math =  $(Best Summer Ever)^2$ 

## **NO CALCULATOR!!!**

Given $f(x) = x^2 - 2x + 5$ , find	l the following.	
1. f(-2) =	2. $f(x + 2) =$	3. $f(x+h) =$
Use the graph $f(x)$ to answer the	e following.	
4. $f(0) =$	f(4) =	$f(x) \xrightarrow{4} y$
f(-1) =	f(-2) =	
f(2) =	f(3) =	
f(x) = 2 when $x = ?$	f(x) = -3 when $x = ?$	

Write the equation of the line meets the following conditions. Use point-slope form.  $y - y_1 = m(x - x_1)$ 

5. slope = 3 and $(4, -2)$	6. $m = -\frac{3}{2}$ and $f(-5) = 7$	7. $f(4) = -8$ and $f(-3) = 12$



D)  $\frac{x+2-x}{f(x)-f(x+2)}$ 



Secant line

- 12. Which choice represents the slope of the secant line shown?
  - A)  $\frac{f(x+h)-f(x)}{x-(x+h)}$  B)  $\frac{x-(x+h)}{f(x+h)-f(x)}$  C)  $\frac{f(x+h)-f(x)}{x+h-x}$  $\frac{f(x)-f(x+h)}{x+h-x}$



- 13. Which of the following statements about the function f(x) is true?
  - I. f(2) = 0II. (x + 4) is a factor of f(x)III. f(5) = f(-1)
  - (A) I only

D)

- (B) II only
- (C) III only
- (D) I and III only
- (E) II and III only



Find the domain and range (express in interval notation). Find all horizontal and vertical asymptotes.



## **MULTIPLE CHOICE!**

- 17. Which of the following functions has a vertical asymptote at x = 4?
  - (A)  $\frac{x+5}{x^2-4}$
  - (B)  $\frac{x^2 16}{x 4}$
  - (C)  $\frac{4x}{x+1}$
  - (D)  $\frac{x+6}{x^2-7x+12}$

  - (E) None of the above

18. Consider the function:  $(x) = \frac{x^2 - 5x + 6}{x^2 - 4}$ . Which of the following statements is true?

- I. f(x) has a vertical asymptote of x = 2
- II. f(x) has a vertical asymptote of x = -2
- III. f(x) has a horizontal asymptote of y = 1
- (A) I only
- (B) II only
- (C) I and III only
- (D) II and III only
- (E) I, II and III

Rewrite the following using rational exponents. Example: $\frac{1}{\sqrt[3]{x^2}} = x^{-\frac{2}{3}}$		
19. $\sqrt[5]{x^3} + \sqrt[5]{2x}$	20. $\sqrt{x+1}$	21. $\frac{1}{\sqrt{x+1}}$
$22. \ \frac{1}{\sqrt{x}} - \frac{2}{x}$	23. $\frac{1}{4x^3} + \frac{1}{2}\sqrt[4]{x^3}$	$24. \ \frac{1}{4\sqrt{x}} - 2\sqrt{x+1}$
Write each expression in radical	form and positive exponents. Ex	ample: $x^{-\frac{2}{3}} + x^{-2} = \frac{1}{3} + \frac{1}{2}$
I III III IIII IIII IIII IIII IIII IIII IIII	1 1	$\sqrt[4]{x^2}$
25. $x^{-\frac{1}{2}} - x^{\frac{3}{2}}$	$26. \ \frac{1}{2}x^{-\frac{1}{2}} + x^{-1}$	$\frac{3}{\sqrt{x^2}} \frac{x^2}{x^2}$ 27. $3x^{-\frac{1}{2}}$
25. $x^{-\frac{1}{2}} - x^{\frac{3}{2}}$	$26. \ \frac{1}{2}x^{-\frac{1}{2}} + x^{-1}$	$\frac{3}{\sqrt{x^2 + x^2}}$ 27. $3x^{-\frac{1}{2}}$
25. $x^{-\frac{1}{2}} - x^{\frac{3}{2}}$ 28. $(x+4)^{-\frac{1}{2}}$	26. $\frac{1}{2}x^{-\frac{1}{2}} + x^{-1}$ 29. $x^{-2} + x^{\frac{1}{2}}$	$ \begin{array}{cccccccccccccccccccccccccccccccccccc$
25. $x^{-\frac{1}{2}} - x^{\frac{3}{2}}$ 28. $(x+4)^{-\frac{1}{2}}$	26. $\frac{1}{2}x^{-\frac{1}{2}} + x^{-1}$ 29. $x^{-2} + x^{\frac{1}{2}}$	$ \begin{array}{cccccccccccccccccccccccccccccccccccc$

Need to know basic trig functions in RADIANS! We never use degrees. You can either use the Unit Circle or Special Triangles to find the following.			
31. $\sin \frac{\pi}{6}$	32. $\cos \frac{\pi}{4}$	33. $\sin 2\pi$	
34. $\tan \pi$	35. $\sec \frac{\pi}{2}$	36. $\cos \frac{\pi}{6}$	
37. $\sin \frac{\pi}{3}$	38. $\sin \frac{3\pi}{2}$	39. $\tan\frac{\pi}{4}$	
40. $\csc \frac{\pi}{2}$	41. $\sin \pi$	42. $\cos \frac{\pi}{3}$	
43. Find <i>x</i> where $0 \le x \le 2\pi$ ,	44. Find <i>x</i> where $0 \le x \le 2\pi$ ,	45. Find <i>x</i> where $0 \le x \le 2\pi$ ,	
$\sin x = \frac{1}{2}$	$\tan x = 0$	$\cos x = -1$	
Solve the following equations. R	the demember $e^0 = 1$ and $\ln 1 = 0$ .		
46. $e^x + 1 = 2$	47. $3e^x + 5 = 8$	48. $e^{2x} = 1$	
49. $\ln x = 0$	50. $3 - \ln x = 3$	51. $\ln(3x) = 0$	
52. $x^2 - 3x = 0$	53. $e^x + xe^x = 0$	54. $e^{2x} - e^x = 0$	

Solve the following trig equation	s where $0 \le x \le 2\pi$ .	
55. $\sin x = \frac{1}{2}$	56. $\cos x = -1$	57. $\cos x = \frac{\sqrt{3}}{2}$
58. $2\sin x = -1$	59. $\cos x = \frac{\sqrt{2}}{2}$	$60. \ \cos\left(\frac{x}{2}\right) = \frac{\sqrt{3}}{2}$
61. $\tan x = 0$	62. $\sin(2x) = 1$	63. $\sin\left(\frac{x}{4}\right) = \frac{\sqrt{3}}{2}$
For each function determine its	domain and range	
For each function, determine its <u>Function</u>	domain and range. <u>Domain</u>	Range
For each function, determine its <u>Function</u> 64. $y = \sqrt{x-4}$	domain and range. <u>Domain</u>	Range
For each function, determine its Function 64. $y = \sqrt{x-4}$ 65. $y = (x-3)^2$	domain and range. <u>Domain</u>	Range
For each function, determine its Function 64. $y = \sqrt{x-4}$ 65. $y = (x-3)^2$ 66. $y = \ln x$	domain and range. <u>Domain</u>	Range
For each function, determine its Function 64. $y = \sqrt{x - 4}$ 65. $y = (x - 3)^2$ 66. $y = \ln x$ 67. $y = e^x$	domain and range. <u>Domain</u>	Range
For each function, determine its <u>Function</u> 64. $y = \sqrt{x - 4}$ 65. $y = (x - 3)^2$ 66. $y = \ln x$ 67. $y = e^x$ 68. $y = \sqrt{4 - x^2}$	domain and range. <u>Domain</u>	Range
For each function, determine its Function 64. $y = \sqrt{x-4}$ 65. $y = (x-3)^2$ 66. $y = \ln x$ 67. $y = e^x$ 68. $y = \sqrt{4-x^2}$ Simplify.	domain and range. Domain	Range
For each function, determine its Function 64. $y = \sqrt{x - 4}$ 65. $y = (x - 3)^2$ 66. $y = \ln x$ 67. $y = e^x$ 68. $y = \sqrt{4 - x^2}$ Simplify. 69. $\frac{\sqrt{x}}{x}$	domain and range. <u>Domain</u> 70. $e^{\ln x}$	Range         71.       e <sup>1+ln x</sup>
For each function, determine its <u>Function</u> 64. $y = \sqrt{x-4}$ 65. $y = (x-3)^2$ 66. $y = \ln x$ 67. $y = e^x$ 68. $y = \sqrt{4-x^2}$ Simplify. 69. $\frac{\sqrt{x}}{x}$	domain and range. <u>Domain</u> 70. $e^{\ln x}$	Range         71. e <sup>1+ln x</sup>

72. ln 1	73. $\ln e^7$		74. $\log_3 \frac{1}{3}$
75. log <sub>1/2</sub> 8	76. $\ln \frac{1}{2}$		77. $27^{\frac{2}{3}}$
-2(-2/)(-2/2)	$4ry^{-2}$		3/
78. $(5a^{-7})(4a^{-3})$	$79.  \frac{4xy^{-2}}{12x^{-\frac{1}{3}}y^{-5}}$		80. $(4a^{5/3})^{7/2}$
If $f(x) = \{(3,5), (2,4), (1,7)\}$ $h(x) = \{(3,2), (4,3), (1,6)\}$	$g(x) = \sqrt{x} - k(x) = x^2 + k($	$\frac{-3}{5}$ , then determ	ine each of the following.
81. $(f+h)(1)$	82. $(k-g)(5)$		83. $f(h(3))$
81. $(f + h)(1)$	82. $(k-g)(5)$		83. $f(h(3))$
81. $(f+h)(1)$	82. $(k-g)(5)$		83. $f(h(3))$
84. $g(k(7))$	82. $(k-g)(5)$ 85. $h(3)$		83. $f(h(3))$ 86. $g(g(9))$
84. $g(k(7))$	82. $(k - g)(5)$ 85. $h(3)$		83. $f(h(3))$ 86. $g(g(9))$
81.  (f+h)(1) $84.  g(k(7))$	82. $(k - g)(5)$ 85. $h(3)$		83. $f(h(3))$ 86. $g(g(9))$
$81.  (f+h)(1)$ $84.  g(k(7))$ $87.  f^{-1}(4)$	82. $(k - g)(5)$ 85. $h(3)$	88. $k^{-1}(x)$	83. $f(h(3))$ 86. $g(g(9))$
$81.  (f+h)(1)$ $84.  g(k(7))$ $87.  f^{-1}(4)$	82. $(k - g)(5)$ 85. $h(3)$	88. $k^{-1}(x)$	83. $f(h(3))$ 86. $g(g(9))$
$81.  (f+h)(1)$ $84.  g(k(7))$ $87.  f^{-1}(4)$	82. $(k - g)(5)$ 85. $h(3)$	88. $k^{-1}(x)$	83. $f(h(3))$ 86. $g(g(9))$
$ \frac{1}{81. (f + h)(1)} $ $ \frac{1}{84. g(k(7))} $ $ \frac{1}{87. f^{-1}(4)} $ $ \frac{1}{89. k(g(x))} $	82. $(k - g)(5)$ 85. $h(3)$	88. $k^{-1}(x)$ 90. $g(f(2))$	83. $f(h(3))$ 86. $g(g(9))$
$\frac{1}{81. (f+h)(1)}$ $\frac{1}{84. g(k(7))}$ $\frac{1}{87. f^{-1}(4)}$ $\frac{1}{89. k(g(x))}$	82. $(k - g)(5)$ 85. $h(3)$	88. $k^{-1}(x)$ 90. $g(f(2))$	83. $f(h(3))$ 86. $g(g(9))$